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Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: ued oz ofiF @usl ‘ot ‘§’ 3R ‘A H fiid 81 Tie @ue
& FGITIER el & IR Il

Section - A 10x1=10
(Very Short Answer Type Questions)

Note: Answer all Questions. As per the nature of the question
delimit your answer in one word, one sentence or maximum
up to 30 words. Each question carries 1 mark.

gug - 3’
(rfer o7 IR 9e)
fAder : Al el & IR ST MY 370 IR Pl YR T 90eg,

T g1 T 31feehad 30 9lsci | IR Hifvu| g ued
1 37 Pl 2l
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(iii)

(iv)

(vi)
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What do you mean by anisotropic medium?

faumefre dream & MU T Iead g ?

What does mean by Astigmatism?

3Tl T T e 8 ?

What is the approximate value of ratio of intensity of
central maxima to intensity of first maxima in Fraunhofer
diffraction due to single slit?

Tl fi5g b BHRIRR fdacH § b Sfeass &l digar @
g Ifeass 6 AT & 1Rl SIUTd BT oRTHT A fahaT
g ?

What do you understand by dispersion?

TfRETuT 3T AT FHS 8l ?

A grating has 1000 lines and a light of wavelength of
5000A° is incident on the grating. What is the value of
resolving power of grating for second order of spectrum?

U AfST § 1000 W@ § dem 5000A° TR Qe &1 Up1e
9 TR AMUfId Il &1 Waeq & fgdfia dpife & fow afdT &t
v emar @1 7 foran

What is full form of “LASER”?

“LASER” @1 quf %9 foral|

(vii) What is the value of wavelength of ruby laser?

el ofoR @Y avT <& b1 1 fbaHT g 27

(viii) An unpolarised light is incident on the glass plate of

refractive index 1.732. What is the value of Brewster's
angle?

Ueh ST TBIeT Ueh PIg I el IR MUTCId 8l & I Telc
1 JUgcID 1.732 g Al g DIV Bl A AT g 2
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(ix) Write the grating equation?

IfeT Fftemur B fTRau|

(x) Define specific rotation.

faferse goiq @1 aReifyq St

Section - B 4x5=20
(Short Answer Type Questions)
Note: Answerany four question. Each answer should not exceed
200 words. Each question carries 5 marks.

(Tvs - 9)
(oTg TR UeA)
fAder: gt oR oAl & IR SINVITI M9 3o TR AT 31feIapaq
200 sregi ¥ gRAfAT Hifore| U ueT 5 i 31 2l

2) What do you mean by principal points and principal planes?
oy &g e J& a1 A JATIhT a1 I 2 2

3) Whatis Coma defect? How do you reduce it?

P SIY I 3BT AT AT g7 3T 37 hd pH il ?

4) By using the formula for refraction at spherical surfaces, obtain
the focal length of thin lens.

MeAlT [eIg R U & F P JAN PR §Y Ul o=q el
thiehd G e R |

5) Why coherent sources are necessary for interference?

TR B ToTT DT Trag BT Dl aThal AT gt @ 2
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What do you mean by Fresnel's and Fraunhofer’s diffraction?
What are the differences between them?
it Ud BRI faedde ¥ 31uet T areqef g2 S9dh el
AR 8?2

Discuss the working principle of Quarter wave plate?
FIUTT TR el B BRIGRT Rigl Bl fadem Hify|
Write the statement of Fermat's principle and discuss it.

hic & RIgrd @1 HeF fRgu qor faae=r STl

What do you mean by population inversion?
ST TGShHUT 3 STYehT T IR g 2

Section - C 2x10=20
(Long Answer Type Questions)

Note: Answer any two questions. You have to delimit your each

answer maximum upto 500 words. Each question carries
10 marks.
(Tvs - ¥)
(Sef IR o)

fder : fhmgl QI ueAl & IR T 3= IR 3ffereas 500 gl |

gRAIfT HifT| U U9T 10 3T &1 Bl

10) Explain the construction and working of Ruby Laser. Also draw

the necessary diagrams.

Bl oIoR &l gTIC TAT BRI bl FHST3N qAT T o
o} g7
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11) Explain the Fraunhofer diffraction pattern due to double slit.

Q1 Rerel (fB5gf) & PR BHeR fada @t daqemen |

12) What do you mean by Chromatic and Monochromatic
aberrations? How can spherical aberration be reduced?

quify T Tepquit faueT 4 31genT a1 areaf & 2 Mol fau ot
$A P fHAT ST FepaT g ?

13) Describe the experimental set up and working of Fresnel's
biprism experiment. How do you determine the thickness of a

transparent plate with this experiment?

et ffieT TR it Urnfies @raveen va BRIvet dr au=man|
MY U RS Telc & Ale I 39 YAN dl AT | &
R a=mr?
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